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12 6 7
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2 42
1,230 629 601
18
12
11
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7 42
@x @ 2

7 35
5 25 6 30
18 90
(S.0.)
27.09
(N=42) (SDh.) ( 1.45)
26.80
(N=42) (SDh.) ( 1.41)
28.13
(N=42) (SD) ( 1.79)
28.32
(N=42) (SD.) ( 1.28)
( ) 69.03 1 69.03 98.21 il
() .10 1 .10 .03
2.37 1 2.37 8.32 T
Tota 445.35 167
T p<10  *p<.05 **p<.0l  ***p<.001
t 90
* 95
* % 99
*kx 99.9
X
p<.10
p<.001



(5.0,

19.10

(N=42) (SD.) ( 1.02)

19.90

(N=42) (SD.) ( 1.09)

19.45

(N=42) (SD.) ( .90)

20.43

(N=42) (SD.) ( .85

( ) 3340 1 3340 12255 *kx
() 8.01 1 8.01 493 *
37 1 37 1.35
Total 198.98 167
T p<10 *p<.05 **p<.0l ***p<.001
(5.0.)

23.83

(N=42) (SD.) ( 115)

24.39

(N=42) (SD.) ( 1.09)

24.37

(N=42) (SD.) ( 1.08)

24.99

(N=42) (SD) (114

( ) 1294 1 1294 4067 ***
() 15.27 1 1527 685 *
.07 1 .07 .23
Tota 237.26 167
t p<10  *p<.05 **p<.0l ***p<.001
(S.0.)
70.02
(N=42) (SD.) ( 321
70.65
(N=42) (SD.) ( 2.87)
72.38
(N=42) (SD.) ( 3.69)
73.75
(N=42) (SD.) ( 2.94)
( ) 312.78 1 31278 116.06 *kx
() 453 1 4153 2.28
5.83 1 5.83 2.16
Total 2074.11 167
T p<10  *p<.05 **p<.0l  ***p<.001



F=8.32,p<.01

(F=4.79,p<.05)

(F=3.38,p<.10)

(F=98.21,p<.001)

( F=122.55,p< .001)
(F=4.93,p<.05)

(F=40.67,p<.001) (F=6.85,p<.05)

(F=3.14,p<.10)
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(644
(101
(18

(26

(485
(554
(167
(24

(222
(512
(400
(%

(373
(536
(231
(100

(308
(568
277
(77

(694
(21
(469
( 46

(392
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(578 )
(212 )
(4 )

(267
(567
(295
(101

N N

(753
(410
( 51
(16
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(N=606) 20.1% 43.5% 25.5% 10.9%

(N=1230) 20.6% 43.6% 27.8%

8.0%




11~12

13.0%

2.2%

3.1%

81.7%

3.1%

16.7%

2.8%

4.6%

72.8%

485
554
302
578
10
(N=1230) 222 512 400 %
(N=1230) 267 567 205 101
10
X
X =22.93,p<.01
<.05
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(N=153)

2601  27.73 1.72
1869  19.64 95
2321 2382 61
6790 7118 3.28

(N=684)
2670  27.94 1.24
1901  19.96 95
23.99 2450 51
69.71 7240 2.69

(N=393)
2771 2897 1.26
1995  20.73 78
2463 2526 63
7229 7496 2,67

F(df=2)=8.69,p<.001
F(df=1)=37.84,p<001
F(df=2)=12.54,0<.001
F(df=1)=125.78,p<001

11
Gl 153
G2
684
G3 393
1)
@ @ 2 (2000)
2) (2001)
« )
3) (1998)
F(df=2)=9.63,p<.001 F(df=1)
=120.23,p<.001 F
(df=2)=12.22p<001, F(df=1)=98.28,p
<.001
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(Appendix)




